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LIMITING REACTANTS WS

Directions: Complete the following limiting reactant problems on a separate piece of paper.  For each problem, determine 3 things:

a. Which reactant is limiting

b. Which reactant is in excess (INXS) by how much (grams or liters)

c. How much product is produced

1. Determine the mass of ammonia that can be produced from the reaction of 28g of nitrogen and 25g of hydrogen. How much of the excess reactant is left over?

N2 + 3H2 ( 2NH3

2. Silver nitrate and sodium phosphate are reacted in equal amounts of 200.g each. How many grams of silver phosphate are produced? How much of the excess reactant is left over?

3AgNO3 + Na3PO4 ( Ag3PO4 + 3NaNO3

3. Lithium iodide reacts with bromine to form iodine and lithium bromide. If you have 20.g of bromine and 26g of lithium iodide, how many grams of lithium bromide can you make?

4. Sulfuric acid reacts with sodium hydroxide to form water and sodium sulfate. If you start with 50.g of each reactant (sulfuric acid and sodium hydroxide), how many grams of water are formed?

5. Phosphorus tribromide (PBr3) reacts with water to form hydrobromic acid and hydrogen phosphite. If you have 100.g of phosphorus tribromide and 25g of water, how many grams of hydrobromic acid are formed?

6. Aluminum metal reacts with copper (II) chloride to produce aluminum chloride and copper. If you begin with 5.0g of aluminum and 30.g of copper (II) chloride, how many grams of copper will result?

